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ECONOMICS

[Honours ]
PAPER — I
Full Marks : 90
Time : 4 hours

The figures in the right hand margin indicate marks

Candtdates are required to give their answers in their
own words as far as practicable

Hlustrate thg answers wherever necessary

Use separate scripts for each Half

[FIRSTHALF ]
(Micro Economics-1)

f [ Marks : 45 ]
GROUP —A

Answer any five questions : 2x5

( Turn Over )




1. (a@)

(b)

()

(d)
(e)
)
(&)
(n)

(2)

Define Marginal Rate of Technical
Substitution (MRTS).

What will be the shape of the LAC curve if
there is increasing resturans to scale ?

What is fixed coefficient production
function ? : ‘

What is veblen cffect 7

Define shut down point.

What is homogeneous production function ?
What is isoquant ?

Define opportunity cost.

GROUP - B

Answer any three questions : 5x3

2. Distinguish between compensated demand curve
and ordinary demand curve. 5

3. Derive the short run supply curve of afirm
under perfect competition. 5
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(3)

- "All Giffen goods are inferior in nature but the
~ converse is not true”"—Explain. 5

" What is substitution effect ? Explain it by Hicks'
- method of measurement. 2+3

. Define the law of variable proportion and explain
. briefly the relation between AP and MP. 2+3

- Explain why the Average Cost curve is 'U' shaped. 5

GROUP-C
Answer any two questions : 10x2

Analyse consumer's equilibrium by the ordinal
utility approach when indifference curves are
(i) Concave to the origin, |

(ii) 'L'shapedand

(iif) downward straight line. 4+2+4

Define expansion path. Show that expansion path

is a straight line through the origin in case of

Cobb-Douglas production function. 347
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(4)

19. Analyse economic importances of 'shut down

11.

point' and 'break-even point' of a short-run
competitive firm. 5+5

Explain the properties of isoquant and discuss
the conditions of output maximisation with
respect to cost constraint. 4+6

[ SECOND HALF]
(Macro Economics-1)
[ Marks : 45 ]
GROUP —-A
Answer any five questions : 2x5
(a) What is transfer earning ?
(b) Whatis Okun's law ?

(c) What do you mean by real national
income ?

(d) What is marginal efficiency of investment

(MEI) ?
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(s)

(e) What is money multiplier ?
() What is liquidity trap ?

(g) IfMPC =0-54, find consumption function
and saving function.

(#) What is paradox of thrift ?
GROUP - B

Answer any three questions : 5x3

2. Discuss the empirical findings of Aurther Smithies
regarding consumption function.

3. Discuss the marginal efficiency criterion (MEC) -
for investment decision.

4. Explain value added method of national income
accounting.

5. Consider the model :
S@H=1(@)
8(#) = 0-02 ()
Y(#)=2 K () and I (O) = 100.
Find the time path of investment.
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10.

11.

(6)

Under what circumstances does transaction
demand for money be;;ome interest—sensitive ?
Explain. '

Explain how Habit persistent theory explains
the nature of consumption ?

GROUP -C . |
Answer any two questions : 10 x 2

How does permanent Income Hypothesis of
consumption explain short-run variability and
long-run constancy of average propensity to
consume. _ 10

Discuss how the commercial banks create
money by Creating dcposns Also discuss its
limitations. £ 7+3

Explain the regressive expectation model of
speculative demand for money. 10

Discuss how the investment decisions are taken on
the basis of Marginal Efficiency Criterion (MEC) —
and Marginal Efficiency of Investment(MEI). 5 + 5
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